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WORKSHEET

Supply the correct question tag:

1.

I have brought some oranges,
(A) Have I? (B) Hasn’tI? (C) Hadn’tI? (D) Haven'tI?

She is coming with you,

(A) Isn’t she? (B) Isn't he?

(C) Doesn't she? (D) Doesn't he?

That man is quite tall,
(A) Isn't she? (B) Isn't he?

(C) Wasn't she? (D) Wasn't he?

Hitesh can climb this tree,
(A) Canhe? (B) Could he? (C)Can’the? (D) Couldn’t he?

We shall have to try again,
(A) Shan’t we? (B) Shall we? (C) Willwe? (D) Wouldn’t we?

You have written the letter,

(A) Have you? (B) Haven’t you?

(C) Doesn't you? (D) Hasn’t you?
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7.  Sunita will want to meet Harish,
(A) Will she? (B) Wouldn’t she?

(C) Won'’t she? (D) Wasn't she?

8. Imaycomein,
(A) May I? (B) Might I?

(C) Mightn’t I? (D) Mayn’t I?

9.  There are no short cuts,
(A) Are there? (B) Is there?

(C) Aren’t there? (D) Weren't there?

10. The teais not at all hot,
(A) Isn’t it? (B) Wasn'’tit? (C) Isit? (D) Was it?

11. All these books are new,
(A) Are they? (B) Is they?

(C) Weren't they? (D) Aren’t they?

12.  You could solve the sum,
(A) Could you? (B) Can’t you?

(C) Couldn’t you? (D) Can you?

13. The match has begun,
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(A) Hasn’tit? (B) Has it? (C) Haven't it? (D) Hadn't it?

14. The girls won’t cheat,
(A) Wouldn’t they? (B) Would they?

(C) Will they? (D) Will she?

15. William is a very nice boy, ?
(A) Wasn't he? (B) Doesn't he?

(C) Isn't he? (D) Isn't she?

16. Jack has fetched the pail,
(A) Has he? (B) Hasn’t he?

(C) Hasn’t she? (D) Has she?

17. The baby did not cry,
(A) Didn’tit? (B) Did it? (C) Doesn’t it? (D) Does it?

18.  This horse won many races,
(A) Did it? (B) Didn’tit? (C) Doesn’tit? (D) Don’t it?

19. Change your dress,
(A) Will you? (B) Won’t you?

(C) Do you? (D) Don’t you?
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20.

Sheila can do this much,
(A) Can she? (B) Could she?
(C) Couldn’t she? (D) Can’t she?

Answers and explanations:

1.

10.

(D)

Exp: The sentence is affirmative with ‘have’ and ‘T’ hence the tag is negative.

(A)

Exp: The sentence is affirmative with ‘is’ and ‘she’ hence the tag is negative.

(B)

Exp: The sentence is affirmative with ‘is’ and ‘man’ hence the tag is negative.

©)

Exp: The sentence is affirmative with ‘can’ and ‘he’ hence the tag is negative.

(A)

Exp: The sentence is affirmative with ‘shall’ and ‘we’ hence the tag is negative.

(B)

Exp: The sentence is affirmative with ‘have’ and ‘you’ hence the tag is negative.

©)

Exp: The sentence is affirmative with ‘will’ and ‘Sunita’ hence the tag is negative.

(D)

Exp: The sentence is affirmative with ‘may’ and ‘I’ hence the tag is negative.

(A)

Exp: The sentence is negative with ‘are’ and ‘there’ hence the tag is affirmative.

©)

Exp: The sentence is negative with ‘is’ and ‘tea’ hence the tag is affirmative.
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11. (D)

Exp: The sentence is affirmative with ‘are’ and ‘books’ hence the tag is negative.
12. (O)

Exp: The sentence is affirmative with ‘could’ and ‘you’ hence the tag is negative.
13. (A

Exp: The sentence is affirmative with ‘has’ and ‘match’ hence the tag is negative.

14. (O

Exp: The sentence is negative with ‘will’ and ‘girls’ hence the tag is affirmative.

15. (O)

Exp: The sentence is affirmative with ‘is’ and ‘William’ hence the tag is negative.
16. (B)

Exp: The sentence is affirmative with ‘has’ and ‘Jack’ hence the tag is negative.
17. (B)

Exp: The sentence is negative with ‘did’ and ‘baby’ hence the tag is affirmative.
18. (B)

Exp: The sentence is affirmative with ‘won’ and ‘horse’ hence the tag is negative.

19. (B)

Exp: The sentence is affirmative with ‘change’ and ‘hidden subject - you’ hence the tag is
negative. The sentence is imperative; hence ‘won’t’ is used in the tag.

20. (D)

Exp: The sentence is affirmative with ‘can’ and ‘Sheila’ hence the tag is negative.
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